The Third Legacy Procedure

BALLOT

Does one candidate have 2/3 Candidate with 2/3 majority is elected

majority of total vote?

Does one candidate have 2/3
majority of total vote?

Candidate with 2/3 majority is elected

Candidates with less than 1/5 of total vote are withdrawn
[ Top candidates and all runners-up must remain | 1

Does one candidate have 2/3
majority of total vote?

Candidate with 2/3 majority is elected

Candidates with less than 1/3 of total vote are withdrawn
[ Top candidates and all runners-up must remain | -1

Does one candidate have 2/3
majority of total vote?

Candidate with 2/3 majority is elected

The candidate with the smallest vote total is automatically
withdrawn. [ Top candidates and all runners-up must rems

Chairperson asks for motion Motion

to conduct a Fifth Vote [f,¥ el GO TO THE HAT

Motion Passed
(by simple majority)

Does one candidate have 2/3 Candidate with 2/3 majority is elected

majority of total vote?

GO TO THE HAT



